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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 38 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections - A, B, C, D and E.

(11z1) In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

(vit) In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

(vitt) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and

3 questions in Section E.

. . : 22 . .
(ix)  Draw neat diagrams wherever required. Take 1 = 3 wherever required, if not

stated.

(x) Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1. The values of k for which the equation 4x2 + kx + 9 = 0 has real and equal

roots are :
(a) + 11 (b) + 12
(c) + 6 d) +£3

2. The distance of the point (4, 7) from the x-axis is :

(a) 7 units (b) 5 units
(c) 4 units (d) 10 units
30/C/1 ~ Page 3 P.T.O.
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3. T 9=l % Ush YNGR H HH-U-HH Ueh AAGeh] o &4 <hl ATRIhHdT 3 :

(a) (b)

(c)

|00 DN

4, ﬁ'ﬁiﬂﬁ%%ﬁ,mﬂ"qax+2y 73ﬁ'{3}{+by—16{-11-||c|{i'@'[3ﬁ3m
g &td &, 98 B :

f

(a) ab = T (b) ab=6
(c) ab =3 (d) ab = 2
5. 989G 3x2 + 11x—4 % YLIh @ :
1 1
(a) 577 4 (b) 1 3
1 1
(C) g y 4 (d) g ) 4
6. cot20 12 SR & :
sin“ 6
(a) 1 (b) 2
(c) -2 d -1

7.  Tomg A TR, S8 AB 34 I w1 ¥ 2 ¥Rl &g (3, — 2) 991 B (7, 4)

?

(a) (—=1,-8) (b) (=1,8)
(¢c) (1, 8) (d) (1,-8)

8  Jid x, 2x+9, 4x+3 Uh A.P. o dH AT 9S8, dl x ol A 3

(a) 3 (b) 10
(c) 13 d) 15
30/C/1 ~—~~ Page 4
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3. In a family of two children, the probability of having at least one girl is :

(a) (b)

B N
NG N N

(¢) (d)

4, The condition for which the pair of equations ax + 2y = 7 and 3x + by = 16
represent parallel lines is :

7
(a) ab= T (b) ab=6
(c) ab=3 (d) ab=2
5. The zeroes of the polynomial 3x2 + 11x — 4 are :
1 1
= pl] L
(a) 5 (b) 1 3
1 1
" | d —.,4
(c) 3 (d) 3
2 L. .
6 cot“ 0 5— 1s equal to :
sin“ O
(a) 1 (b) 2
(c) — 2 d -1

1 The coordinates of the point A, where AB is the diameter of the circle
whose centre i1s (3, —2) and B (7, 4) 1is :

(a) (—1,-8) (b) (-1,8)
(c) (1, 8) d) (1,-8)
8. If x, 2x+ 9, 4x + 3 are three consecutive terms of an A.P., then the

value of x 1s :

(a) 3 (b) 10
(c) 13 (d) 15
30/C/1 ~—~~ Page 5 P.T.O.
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9. TH HAR &I 391E 20 m & | J& I I 3AAMT 60° 7, ql IH T & HHR Hl
BT ! TS @

3 2 oy 0y

J3 3

(¢) 2043 m (d) 20m

10. & 7 3Mfd #, DE | BC 3R @i 419 cm © feu € | AE <1 ovas R -

(a) 2 cm (b) 2:25 cm

(c) 2:5 cm (d) 275 cm

11. Th 10 m ¢ SeAe @H hl YH T IS drell ST hl @F g 5 m 3 | 3
gug ¥, Ush HAR i YfH 9 9S4 drelt DR h AR 125 m 8 | HHER 6
ST B

(a) 20m (b) 22m
(c) 25 m (d) 24 m
12. AHHH &Y 1 ITAN HH T Teh ded, bl q1e 7-2 3T q1eeh 7-1 7,
h| G’I@Q’I‘-“h @Tﬂ :
(a) 62 (b) 63
(¢) 65 (d) 69
30/C/1 ~~~~ Page 6
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9. The height of a tower is 20 m. The length of its shadow made on the level

ground when the Sun’s altitude is 60°, is :

@ 2 om b Y m

V3 3

(¢) 20+/3 m (d) 20 m

10. In the given figure, DE [|[BC and all measurements are given in

centimetres. The length of AE is :

(a)  2cm (b)  2:25cm
(¢c) 2:5cm (d) 275 cm
11. A vertical pole 10 m long casts a shadow of length 5 m on the ground. At

the same time, a tower casts a shadow of length 12:5 m on the ground.

The height of the tower is :
(a)  20m (b) 22m
() 25m (d 24m

12. Using empirical relationship, the mode of a distribution whose mean is

7-2 and the median 7-1, is :

(a) 62 (b) 63
(c) 6-5 d) 69
30/C/1 ~—~~ Page 1 P.T.O.
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13. TSI 7 cm % g O 9T I 1 Teh AT OACB 2 &l ACB 1 <hl =9

(a) 15 cm (b) 50 cm
(c) 25 cm (d) 44 cm

14. 3AHfd H, %5 O dcl gd W PA 3R PB @ UGN 39 YR &
/ APB =50°2 | 9 £ OAB &1 A9 % :

(b)  50°
(d)  100°

15. TSI 7em s Uk g W, foieg P11 g7 o g 8 25 cm ohl gl T food g, @
STAT T8 TURi3ET hl v BT

(a) 22 cm (b) 24 cm
(c) 25 cm (d) 28 cm

16. 3¢ T Higfhad &1 9fEAT 11 km sl gl T T § 5000 =R Cl 2, dl

qfgu 1 =919 2T -
(a) 65cm (b) 35cm
(c) 70 cm (d) 50 cm

17. Tl @ 199 o e 91y 3ISTadr 3 | 39 3Tfeeh-9-31ieeh Uesh f=d ured 84 i

UTRIehdT 2 :
3
(a) 1 (b) Z
1 1
30/C/1 ~—~~ Page 8
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13. OACB is a quadrant of a circle with centre O and radius 7 cm where ACB

i1s the arc. Then the perimeter of the quadrant is :
(a) 15cm (b) 50 cm
(¢c) 25 cm (d 44 cm

14. In the figure, PA and PB are two tangents to the circle with centre O
such that £ APB = 50°. Then, the measure of £ OAB is :

(a)  25° (b)  50°
(c) 15° (d)  100°

15. The length of the tangent drawn from a point P, whose distance from the

centre of a circle is 25 cm, and the radius of the circle is 7 cm, i1s :

(a) 22cm (b) 24 cm
(c) 25 cm (d) 28 cm

16. If a bicycle wheel makes 5000 revolutions in moving 11 km, then the

diameter of the wheel is :
(a) 65 cm (b) 35 cm
(c) 70 cm (d) 50 cm

17. Lali tosses two different coins simultaneously. The probability that she

gets at most one head is :

3

1 =

(a) (b) 1

j | 1

(C) § (d) ?
30/C/1 ~ Page 9 P.T.O.
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eIl 1,2, 39 ° Ush &I THI ATl & 3R 39 x ¥ H&Iq fha1 Jar 8 3R
eIl 1,4, 9° ¥ Th 91 g1 Al g NE y ° H&Ua foham Siar 28 | a9
P(Xy<9)%:

(a)

(b)

(c) (d)

|t O

97 G&IT 19 37K 20 3YH9T UF do STERT J94 & 3N Ycdb 97 HT 1 3%
& | 1 %97 137 7T & 579 T &1 39HIT (A) TI §R H1 @b (R) GRT 37l 37 T
& | 37 Y1 & @&l I H14 8¢ 7T FIET (a), (b), (c) 3R (d) H & F7H F7 |
(a)  IAHHIA (A) 3R deh (R) SHI Hal a8 AN doh (R), 3THHAT (A) hl Hal
SITEIT hdl 2 |
(b)  SAHHAT (A) IR T (R) GHI W&l &, T b (R), AWHIT (A) hl G&l
ST TgT hidl g |
(c)  HAWHIF (A) Hal 8, W] doh (R) TeAd @ |
(d)  3AWHYF (A) TAd &, I-q b (R) F&l 7 |

19. 3997 (A): < fgare!, afaan 3 AW Ush ¢HT 89 Wad & | 911 &
B Sfiad <kl ITRIeRdT 0-79 8 3T TEME & 39 Sfid= shl ITiRrehd]

7% (R) : %ﬁ;ﬁaﬁ?ﬁmﬁwaﬁWW‘lﬁm%I
20. 3YHYT(A): Teh 59 UTET Ueh IR Hehl SITAT & | Ueh AW T&IT I &H
AR IIPET % 2 |
7% (R) : Uk UTehd HEA1, YT H&A1 BIdl @ Iid 36 &A1 &% had al
UHETS Bl |

s @

3G U8 I 37ld TY-3707 (VSA) FHR & J97 8, o749 J9% & 2 375 & |

21. (%) e I8 feun gam 2 f6 V2 U iy e 3, a1 fag Fifvw &
(5—2+/2) T AYNHT T 7 |

HAAT
(@) = hINTY foh <=1 TohET JTehd H&AT n % T, T&AT 67, 3Tk 0 W HHT
g bl 7 |
30/C/1 ~~~~ Page 10
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18. A number is chosen from the numbers 1, 2, 3 and denoted as x, and a
number is chosen from the numbers 1, 4, 9 and denoted as y. Then

P(xy < 9) 1s:

1

(ﬂ) 5 (b)
o

O3 ©|w

(c) (d)

9

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from

the codes (a), (b), (c) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Two players, Sania and Ashnam play a tennis match. The
probability of Sania winning the match is 0:79 and that of
Ashnam winning the match is 0-21.

Reason (R): The sum of probabilities of two complementary events is 1.

20. Assertion (A): A fair die is thrown once. The probability of getting a

. .1
prime number is 3

Reason (R): A natural number is a prime number if it has only two
factors.

SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. (a) If V2 is given as an irrational number, then prove that (5 — 2+/2)
is an irrational number.

OR
(b) Check whether 6" can end with the digit 0 for any natural
number n.
30/C/1 ~ -~ Page 11 P.T.O.
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22. 3THfd H, AB = AC 9Tal, T GufgaTg Bl ABC i 9ig1g T =1 CB W feorg
E @ fog 8 | a[¢ AD L BC 3R EF L AC &, @1 fag i 6
AABD ~AECF 2 |

A
K B D C
23. (%) ST Tk g (- 3, — 3), (8, 3) 3 (- 343, 3/3) T wHag FIga
NIC
HAAT
(@) Tfag $iNT f6 A4, 3), B(6, 4), C(5, 6), D(3, 5) T a7t ABCD o 3§
g |

24, Uh Id foeg P W Ush BIYS ABC <hl Y11 BC &l @ @1 2 3 s fega
Q 3 RH 9@TE T8 a3t AB 3R ACHI § &I 7 |

ﬁaﬁﬁq%A@g:%(aABcaﬂtr&m)l

25. Hd SHifST b fsgatl (— 3, 10) 3R (6, — 8) =l IS A {WI-WUE I fog
(— 1, k) foper S1uTa 4 TauTiord sat § | 37a:, k o1 T 1 shilg |

30/C/1 ~~~~ Page 12
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22. In the figure, E is a point on side CB produced of an isosceles triangle

ABC with AB = AC. If AD 1L BC and EF 1 AC, prove that A ABD ~ A ECF.
A

~
E B D C

23. (a) Show that the points (- 3, — 3), (3, 3) and (- 343 : 343) are the
vertices of an equilateral triangle.
OR

(b) Prove that A4, 3), B(6, 4), C(5, 6), D(3, 5) are the vertices of a
square ABCD.

24. A circle is touching the side BC of a A ABC at the point P and touching
AB and AC produced at points Q and R respectively.

Prove that AQ = % (Perimeter of A ABC).

25. Find the ratio in which the point (- 1, k) divides the line segment joining
the points (- 3, 10) and (6, — 8). Hence, find the value of k.

30/C/1 ~ N~~~ Page 13 P10,
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5G GUE § TY-3IH1T (SA) TR & J97 &, 578 I8 & 3 3% & /

26. T TUd1 shi 1Y 7U4 g1 Sl shl 3T & ANTHA i gl AT & | 20 I8 Y=,
3Th! AR gHI Sl bl AYAT o ANTHA & SO g | T4aT & IaH= 3

T hiflg |

27. @ Yl % 9 Ush H1Y Ush &I ohl 3% T2l H W Gohd & | 92 U™ ITdl 9d
AT H B bl WA H, H Y didd 9 9 5 U¢ HH THT odl 2 | I 9
SR 3T H 8IS ohl 9 o HY T shifolu |

28. MY FHIITI(hdT JHI 1 HeH foilgu 37 38 g HiT |

29. (&) 50 AR 500 % s o Gt YUIlehl, ST 7 & USA &, I AThA A
<hIToTT |

HAAT

(@) 10 3R 300 o <= Ut fohdt G&AC 8 S 4 ° 9T i T AT 3 <t 8 2
T T3 ol IMTHA WY ST HIfSU |

30. THHUWN x+y=5, x—y =>5ehl UTH GIT, qT

(i) U ¥, 3 GHIHWI 1 §A H1d hIT |
(i) S @IS 3R y-3T& H T4 Tl (AYSIThR &3 hl SMTIhd hITaT |

31. (%) 6 cm &AM Th I o @Y AR < BSI@US] 1 AABA AT hilC,
Ifq &Y 9T GRI ohg T AN 0T 60° 7 |

(7 = 3-14 T JINT HIST)

AT

(@) 3¢ 10 cm TSI 16 Th g <l i3 SAET g, T 60° HT IV AN
LAl 8, a1 A g JAGUS I SThA AT hIIT |
(=314 AR 3 = 1-73 T JIAT hHifoTQ)

30/C/1 ~~~~ Page 14
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SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.

26. The age of the father is twice the sum of the ages of his two children.

After 20 years, his age will be equal to the sum of the ages of his children.
Find the present age of the father.

27. Two water taps together can fill a tank in 3% hours. The tap of larger

diameter takes 5 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can fill the tank separately.

28. State and prove Basic Proportionality theorem.

29. (a) Find the sum of all integers between 50 and 500, which are
divisible by 7.

OR

(b) How many numbers lie between 10 and 300, which when divided

by 4 leave a remainder 3 ? Also, find their sum.

30. Draw the graph of the following equations: x + y=5, x—y =5, and
(1) find the solution of the equations from the graph.

(11)  shade the triangular region formed by the lines and the y-axis.

31. (a) Find the area of the minor and the major sectors of a circle with

radius 6 cm, if the angle subtended by the minor arc at the centre

1s 60°. (Use n = 3-14)

OR

(b)  If a chord of a circle of radius 10 cm subtends an angle of 60° at the

centre of the circle, find the area of the corresponding minor

segment of the circle. (Use n = 3-14 and +/3 = 1-73 )
30/C/1 ~ -~ Page 15 P.T.O.
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39 GUE H -39 (LA) YbR & J97 &, [973 Jcdeb & 5 3F & /

32. (%) T a9 3 m hl HAg dh Toh A-IAT ST

9 o 3ATHR hl 8 R THL YW

% HW 135 m hI ATUHaH HaTg o Y AS-I IH o4 Al g | Jlg
IMYT bl BT 14 m @, @ T 2 Ufd o HieX bl G & 9 o Wiadl 9

1 U HH <hl AT JTd kiU |

HAJT

(@) Ueh 319 wiohs! 1 TG Teh Ad-gd1d WP oh ThR 1 g Sl IET B
h Ueh L T AT 3 | Al 3T <hl BT 42 em T RgaH
61 A SIS 10-2 cm B, A el o Raei &1 =T F1d T | 39
RIS 1 Pl To1F &A%Bel i FTd 1T |

33. THZ-AA ¥ 100 m o ARLEHE o R H ¢@H W Teh TG ST hl TSTHA
iU, HY IFeh! 3T &¢d §T 30° H 45° H &gl Il 8 | 3TacAloh hl 37a1Y

ERS I E RANR R IEIRIER-UCIREL U IET ISl
(V3 =1-732 T T hifw)

34. TS Tl o gudl &l hl 50 DEATST hl HATS (cm H) T A0 TohIT T AR

gefYd (Hieiigd 3fiehg I 71 -

é‘aqlé (cmﬁ) DEATAT ehl T&AT
120 — 130 2
130 — 140 3
140 — 150 12
150 — 160 20
160 — 170 3
A 00

I9Yth 3Tehgl 1 HIEY 3T §gcish Hd hIT |

30/C/1 ~ N~~~
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SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32. (a) A tent is in the shape of a right circular cylinder up to a height of

3 m and then a right circular cone, with a maximum height of

13-:5 m above the ground. Calculate the cost of painting the inner

side of the tent at the rate of ¥ 2 per square metre, if the radius of

the base 1s 14 m.
OR

(b) A solid wooden toy is in the shape of a right circular cone mounted

on a hemisphere of same radius. If the radius of the hemisphere is
4-2 cm and the total height of the toy is 10-2 cm, find the volume of
the wooden toy. Also, find the total surface area of the toy.

33. As observed from the top of a lighthouse, 100 m above sea level, the

angle of depression of a ship, sailing directly towards it, changes from

30° to 45°. Determine the distance travelled by the ship during the period
of observation. (Use +/3 = 1-732)

34. A survey regarding the heights (in cm) of 50 girls of class X of a school

was conducted and the following data was obtained :

Height (in cm) Number of girls
120 — 130 2
130 — 140 8
140 — 150 12
150 — 160 20
160 — 170 8
Total 50

Find the mean and mode of the above data.

30/C/1 ~ N~~~

Page 17
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35. (&) (i) Tog hieT T

\/secz 0 + cosec” O = tan 0 + cot 0

(i) HM @ HINT :
cos 45°
sec 30° + cosec 30°
HAAT
(@) Al x sin30 +y cos3 0 =sin 0 cos 0 3T x sin 0 = y cos 0 8, dl g
shifora feh x2+y2=1%|

QT UE &
3G TUE 4 3 YHIUT 7¢I STIRT 97 & 574 b 4 375 § /

Th0T eI - 1
36. Teh UTeh H IR @H Teh JThR Hedl o =R 3T A, B, C 3R D I fefa d 39
YhR @S B & T @H AB, BC, CD 31 DA # &' dTell *9el %H9: P, Q, R
3R S T JAThR Hed R hi Fdl & w1 Tob = # fo@mn mn 2 |

D C
Q e () Q
A

-
d B

3UYTh AT o HTER R/, T J241 o6 I T -

(i) 9 JATRR R 1 g O 3, dl £ OSA 1 HIY 1A hIT | 1
(i) ¢ AB =AD&, d ABCD 3hfd 1 9 Toailgy | 1
(iii) (%) I DR=7cm3MAD=11cm g, d APl owas Fd hifw | 2
3rora
(iii) (@) 9 IR Hedl hl g O 8 AN £ QCR = 60° 8, d £ QOR
Rl {19 T 1T | 2
30/C/1 ~~~~ Page 18
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35. (a) (1) Prove that :

\/sec2 0 + cosec” O = tan 0 + cot 0

(11) Evaluate :

cos 45°
sec 30" + cosec 30°
OR
(b) Ifxsin3 0+ ycos’ 0 =sin 0 cos 0 and x sin 0 = y cos 0, prove that

x2 +y2=1.

SECTION E
This section comprises 3 case study based questions of 4 marks each.
Case Study -1

36. In a park, four poles are standing at positions A, B, C and D around the
circular fountain such that the cloth joining the poles AB, BC, CD and
DA touches the circular fountain at P, Q, R and S respectively as shown

in the figure.
D B
S Q
) —
3}/
J B
Based on the above information, answer the following questions :
(1) If O i1s the centre of the circular fountain, then ~ OSA = ... 1
(11) If AB = AD, then write the name of the figure ABCD. 1
(i11) (a) IfDR =7cm and AD =11 c¢m, then find the length of AP. 2
OR
(111) (b)  If O is the centre of the circular fountain with © QCR = 60°,
then find the measure of £ QOR. 2
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37.

Th{UT 3TEJUA - 2

T T Teld I99 THRA A Th S ol @l R 39 77 ¥ Y1 foh 98 F1 7 |
39eh! A1 4 I fean b a8 Ayl gra sreg |1 i o [T SH—T T S0
3 | 91 &1, 394 I8 91 b §14 1A Bd kil SATHIA Teh MO =T 7 |
T hl TV AT 1 TTH § TSERIT T 8 |

i “f-' - ,*’ 1 5 - LN S t ‘_'-i__ L rf
2 g i 5"

3 i ;. D ;
Y3 vk -4 § ;_? & ‘.;‘1'; ,i_i ;f*. '
“i iri:f"lit‘:‘ir'; E:;:E “‘1%"'!'

el
|
]
#

-
1.

%! :_,_1.1= § Ai44 .
q‘é ;'i‘f%ii'l: ;'—qr ‘u. k-1
IV *'ﬂ'-a';,'i-.?-";-*?i_- Fpdsai?in i I
T LR - g :F i .-_‘. , ‘1_'; .l I E g ‘__= . f; __::'1. : .
FR-T T NE . ! = - B S - =
i -.-;' k- I;E;§f:*= | 7.
eI AT AL AR
 AAM BAAMY EEE T

g
1% *

o |

39 YA o YR W, F=ferligd ge41 o I T :

()  feu U aT% gra g U SEYE % fTU fehd ¥ @ ? 1

(i) gYE % IS TfEy | 1

(iii) (%) A TIExZ+(a+1)x+beh JIH 23N -3, d a3 bh
HH $Td IS | 2

HAAT

(ii) (@) AfC 5EUG x2 + px + 45 % IIh] & = 1 I 144 8, d p

¥ 3Td <hIfTU | 2
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Case Study - 2

37. While playing in a garden, Samaira saw a honeycomb and asked her
mother what is that. Her mother replied that it’s a honeycomb made by
honey bees to store honey. Also, she told her that the shape of the
honeycomb formed is a mathematical structure. The mathematical

representation of the honeycomb is shown in the graph.

L] A N NN SN ! g | - < o=

Based on the above information, answer the following questions :

(1) How many zeroes are there for the polynomial represented by the
graph given ? 1
(11)  Write the zeroes of the polynomial. 1

(iii) (a) If the zeroes of a polynomial x2 + (a + 1) x + b are 2 and — 3,

then determine the values of a and b. 2

OR

(111) (b)  If the square of difference of the zeroes of the polynomial
x2 + px + 45 is 144, then find the value of p. 2
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Teh{U0T HAEIIA - 3

38. 14 W&l Wl $EHIAA Fob fMlfaT € o &Y H HAET AT 8 37T GHAT o g o
39 fad ol 741d 8 | 9Rd " ft B8 @ 4 39 7 1 g IE R 3 T
HrelSTi-eh J&AehIaid ol HHICIRId T H $& fowl shl g&deh g hl

sfag™ = 96, Tas= = 240, 7TUTd = 336

1 J&deh] bl HH-HHH QU H 38 YohR FAEYd AT @ Tob Ycdsh &L H hdd
Teh TI9 1 q&deh 81 3R T & T Tehl hl T 99 &l |

39T I o HTUR W, HHIRGd JeHI % I T -

(1) 9P < H Tohal Tehare safedd & 2 1
(i)  TIOTA shl |t GEdehl ohl SFAFEYd i o (T fohdd QU T ITJM b
STt 8 2 1
i) (%) FH Aol ol AT B o @ IFAAT fobr STH arer eU <6l
el T Haid hifsT | 2
HAAT

(i) (@) 3G sfagm, fomm AR TG i Tish & ohl HICTS ShAI:
1:8 ¢cm, 2:2 cm 3R 2'5 cm %, ql Sﬁl’é’l’ﬂ, fasi 3T T <kl
q&dehl o Tcdoh GL Sl HdTs FATd iU | 2
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Case Study - 3

38. February 14 is celebrated as International Book Giving Day and many

countries in the world celebrate this day. Some people in India also
started celebrating this day and donated the following number of books of

various subjects to a public library :
History = 96, Science = 240, Mathematics = 336.

These books have to be arranged in minimum number of stacks such that
each stack contains books of only one subject and the number of books on

each stack is the same.
Based on the above information, answer the following questions :

(1) How many books are arranged in each stack ? 1
(11) How many stacks are used to arrange all the Mathematics books ? 1

(111) (a) Determine the total number of stacks that will be used for

arranging all the books. 2
OR

(111) (b)  If the thickness of each book of History, Science and

Mathematics is 1:8 cm, 2:2 cm and 2:5 cm respectively, then
find the height of each stack of History, Science and
Mathematics books. 2
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